Two Pieces Flanged Ball Valve
ANSI Class 150

Full Bore
1/2” N 8”

FEATURES

* Investment Cast Body Construction

* 2 Pieces Body Design AVAILABLE

* ISO 5211 Mounting Flange

* Blow-Out-Proof Stem Design

e Anti-Static Device

* ABS Type Approval for Marine, Offshore Platform, and
Industrial Applications - Water, Qil, and Air

¢ Available for Pneumatic or Electric Actuator

CRN

CERTIFICATED

( N\ N * NACE MRO0175 is available upon request
N o _2 * Super Alloy materials for highly corrosive medium are

¢ wo] [ TES e / available upon request
. SPECIFICATIONS

) B * Size Range 1/2” ~ 8" (DN15 ~ DN200 )

i s . O S O * End Connection Flanged End, RF

T T T * Working Pressure CF8M - 275 PSI (CWP)

A ANSIClass 150 P-T Chart 4 WCB - 285 PSI (CWP)

e Steam Pressure 150 PSIG. Saturated Steam for RTFE.
e Temperature Range -4 to 356 °F (-20 to 180 °C ) for RTFE.

STANDARDS

1/2"~ 2’

| E * Design ASME/ANSI B16.34
( ' * Mounting Flange ISO 5211
@ « Face to Face ASME/ANSI B16.10 Class 150
H2 s * Flange Dimension ASME/ANSI B16.5 Class 150 RF
1 —! * Material ASTM
] % * Pressure Testing API 598
r
@G 2J @l PORTI—r ﬁ B e Fire Safe API 607 Fire Safe Design
L J | * Type Approval ABS Type Approval
) * Quality Assurance ISO 9001
L 7E :  Material Certificate EN 10204-3.1 MTR
~\MXQN D 6065 * CE Approval PED 97/23/EC Module H
e Canadian Certificate CRN

MATERIAL LIST DIMENSION unit : mm

MATERIAL SIZE PPORT| L | E H |H2| H4 | C |@Y | @G| @) | @ | T | F |[M®@N| @K Z-4
fel IPARI DUALETE (' more options available )
DN15| 1/2" | 15.0 | 1 132 I . . I I ! ! 0 [11.2 | 1.6 | 4x16 | 42/F04 | M5x0.8P
T Teemy ASTMA351Gr.CF8M‘ASTMA216Gr.WCB 5/ 1/ 5.0 | 108 | 132 | 80.0 [ 85 |38.5| 9.0 | 9.6 | 89.0 | 60.5 | 35.0 1.6 | 4x16 /FO. 5x0.8
4 [BALL ASTM A351 Gr.CF8M DN20| 3/4" | 20.0 | 117 | 132 | 84.5 | 8.5 | 42.5| 9.0 | 9.6 | 98.6 | 70.0 | 43.0 | 12.7 | 1.6 | 4x16 | 42/F04 | M5x0.8P
5 |STEM ASTM A276 Gr.5S316 DN25| 1" | 250 | 127 | 166 |102.0 [12.0 | 52.0 | 11.0 | 11.2 [108.0| 79.2 | 51.0 | 14.3 | 1.6 | 4x16 | 50/F05 | M6x1.0P
9 |END CAP ASTM A351 Gr.CF8M‘ASTMA216Gr.WCB
11 |BODY SEAL PTFE. DN32|1-1/4”| 32.0 | 140 | 166 |105.0 [12.0 | 56.0 | 11.0 | 11.2 |117.5| 88.9 | 63.5 | 15.9 | 1.6 | 4x16 | 50/F05 | M6x1.0P
12 |SEAT RTFE.(15%G.F.) DN40(1-1/2”| 38.0 | 165 | 198 | 125.0 |12.0 | 65.3 | 14.0 | 16.0 (127.0| 98.6 | 73.2 | 17.5 | 1.6 | 4x16 | 70/FO7 | M8x1.25P
(SN HILRUSTAWASHER PURE DN50| 2" |50.0 | 178 | 198 [132.0 [12.0 | 73.8 | 14.0 | 16.0 |152.5/120.7| 92.0 | 19.1 | 1.6 | 4x19 | 70/FO7 |M8x1.25P
14 |STEM PACKING PTFE.
15 |GLAND BUSH SS304 DIMENSION unit : inch
19 |HANDLE SS304 SIZE [|PORT| L | E H |H2|H4 | C | @Y | @G| @J| @ | T | F |[M@N| 2K Z-4
21 |HANDLE COVER PLASTIC X -
22 |STEM NUT SS304 DN15| 1/2" | 0.59 | 4.25 | 5.20 | 3.15 [0.33 | 1.52 | 0.35 | 0.38 | 3.50 | 2.38 | 1.38 | 0.44 |0.06|4x0.63| 1.65/F04 | M5x0.8P
247 HANDLEINUT; 55304 DN20| 3/4" | 0.79 | 4.61 | 5.20 | 3.33 [0.33 | 1.67 | 0.35 | 0.38 | 3.88 | 2.76 | 1.69 | 0.50 |0.06|4x0.63| 1.65/F04 | M5x0.8P
28 |LOCKING DEVICE SS304
29 |BELLEVILLE WASHER | SUS301 DN25| 1" | 0.98|5.00 | 6.54 | 4.02 [0.47 | 2.05 | 0.43 | 0.44 | 4.25 | 3.12 | 2.01 | 0.56 |0.06|4x0.63| 1.97/F05| M6x1.0P
30 |TAB WASHER SS304 DN32|1-1/4”| 1.26 | 551 | 6.54 | 4.13 |0.47 | 2.20 | 0.43 | 0.44 | 4.63 | 3.50 | 2.50 | 0.63 | 0.06|4x0.63| 1.97/F05| M6x1.0P
E
33 |STOP PIN SS304 DN40|1-1/2"| 1.50 | 6.50 | 7.80 | 4.92 [0.47 | 2.57 | 0.55 | 0.63 | 5.00 | 3.88 | 2.88 | 0.69 |0.06 |4x0.63|2.76/F07 | M8x1.25P &
35 [STUD ASTM A193 Gr.B8 iy
37 |BOLT NUT ASTM A194 Gr.8 DN50| 2" | 1.97 | 7.01 |7.80| 5.20 |0.47 | 2.91 | 0.55| 0.63 | 6.00 | 4.75 | 3.62 | 0.75 |0.06 4x0.75 2.76/F07 | M8x1.25P 2
0~
g

md_sales @ms.modentic.com.tw _ © 2016 Modentic Industrial Corporation
Modentic reserves the rights to change the contents without prior notice

No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.) Materials with the registered trademark designation ® are typical materials
Tel : + 886 4 23317777 * Fax:+ 886 4 23317771 and owned by other respective companies



ot

ABS
CRN

CERTIFICATED

( Y4
WCB Bo
s (LTS
. RTFE. BEAT )
R S S 1
L ANSIClass 150 P-T Chart 4
2-1/2" ~ 47 ®\ oy
Z4~ PN oc
24 @8 )
30
£ j
: “ammuw |,
29 & i J
SN | AT ]
14 %} =
5 L
N [
13 ‘ S
- i H
N
G OJOIPORT—r - —— - /-~ ®
1) (@) ) G Y
F*ﬂ Mx@N
1
|

Two Pieces Flanged Ball Valve

ANSI Class 150
Full Bore
1/2” A 8”

FEATURES

* Investment Cast Body Construction

* 2 Pieces Body Design

* ISO 5211 Mounting Flange

* Blow-Out-Proof Stem Design

e Anti-Static Device

* ABS Type Approval for Marine, Offshore Platform, and
Industrial Applications - Water, Qil, and Air

* Available for Pneumatic or Electric Actuator

* NACE MRO0175 is available upon request

* Super Alloy materials for highly corrosive medium are
available upon request

SPECIFICATIONS

* Size Range
e End Connection
* Working Pressure

AUTOMATION
AVAILABLE

1/2” ~ 8" ( DN15 ~ DN200 )

Flanged End, RF

CF8M - 275 PSI (CWP)

WCB - 285 PSI ( CWP)

150 PSIG. Saturated Steam for RTFE.
-4 to 356 °F (-20 to 180 °C ) for RTFE.

e Steam Pressure
e Temperature Range

STANDARDS

* Design

* Mounting Flange
* Face to Face

* Flange Dimension
* Material

* Pressure Testing

CERTIFICATE

ASME/ANSI B16.34

I1ISO 5211

ASME/ANSI B16.10 Class 150
ASME/ANSI B16.5 Class 150 RF
ASTM

API 598

e Fire Safe API 607 Fire Safe Design
* Type Approval ABS Type Approval
* Quality Assurance ISO 9001

EN 10204-3.1 MTR
PED 97/23/EC Module H
CRN

e Material Certificate
* CE Approval
e Canadian Certificate

MATERIAL LIST DIMENSION unit : mm

MATERIAL
Mo EARUEME (' more options available ) SIZE PORT| L E H H2 | H4 | C | @Y | @G | @J | @l T F |Mx@N| ©K Z-4
1 |BODY ASTM A351 Gr.CF8M | ASTM A216 GrWCB
4 |ERLL ASIMESHIIGHCLEM DNG5 [2-1/2"| 64.0 | 190 | 300 | 178 | 23 | 92.5 | 17 | 28 |177.8[139.7/104.7| 23.3 | 1.6 | 4x19 |102/F10 | M10x1.5P
5 |STEM ASTM A276 Gr.SS316
9 |END CAP ASTM A351 Gr.CF8M | ASTM A216 GrWCB
11 |BODY SEAL PTFE. DN80 | 3" |76.0| 203 | 300 | 188 | 23 |101.7| 17 | 28 |190.5/152.4|127.0(23.9 | 1.6 | 4x19 |102/F10 | M10x1.5P
12 |SEAT RTFE.(15%G.F.)
13 [WiRRUS WASIER PIAE, DN100| 47 [100.0| 229 | 450 | 202 | 23 [119.0| 17 | 28 |228.6(191.0[157.2|23.9 | 1.6 | 8x19 |102/F10|M10x1.5P
14 |STEM PACKING PTFE.
15 |GLAND BUSH SS304 Y
19 |HANDLE IRON DIMENSION unit : inch
20 |[HANDLE BOLT SS304
21 |HANDLE COVER PLASTIC SIZE PORT| L E H H2 | H4 (] oY | @G | @J ]| T F | Mx@N K Z-4
24 [HANDLE NUT SS304
28 |STOP PLATE $S304 DNG65 [2-1/2'| 2.52 | 7.48 |11.81| 7.01 |0.91| 3.64 | 0.67 | 1.10| 7.00 | 550 | 4.12 | 0.92 | 0.06 | 4x0.75 |4.02/F10| M10x1.5P
29 |BELLEVILLE WASHER |SUS301
30 |TAB WASHER SS304
33 [STOP PIN SS304 DN80 | 3" |2.99 | 7.99 [11.81| 7.40 | 0.91 | 4.00 | 0.67 [ 1.10 | 7.50 | 6.00 | 5.00 | 0.94 | 0.06 | 4x0.75 |4.02/F10| M10x1.5P
35 |BODY BOLT ASTM A193 Gr.B8
37 |BOLT NUT ASTM A194 Gr.8 DN100| 4" |3.94 | 9.02 [17.72| 7.95 [0.91| 4.69 | 0.67 | 1.10 | 9.00 | 7.52 | 6.19 | 0.94 | 0.06 | 8x0.75 |4.02/F10| M10x1.5P
50 |HANDLE ADAPTER ASTM A351 Gr.CF8

md_sales @ms.modentic.com.tw

No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.)
Tel : + 886 4 23317777 » Fax:+ 886 4 23317771

© 2016 Modentic Industrial Corporation

Modentic reserves the rights to change the contents without prior notice
Materials with the registered trademark designation ® are typical materials
and owned by other respective companies

20170803-121md



Two Pieces Flanged Ball Valve
ANSI Class 150

Full Bore
1/2” A 8”

FEATURES

* Investment Cast Body Construction

* 2 Pieces Body Design AVAILABLE

* ISO 5211 Mounting Flange

* Blow-Out-Proof Stem Design

e Anti-Static Device

* ABS Type Approval for Marine, Offshore Platform, and
Industrial Applications - Water, Qil, and Air

* Available for Pneumatic or Electric Actuator

* NACE MRO0175 is available upon request

* Super Alloy materials for highly corrosive medium are
available upon request

SPECIFICATIONS

* Size Range 1/2” ~ 8" (DN15 ~ DN200 )

e End Connection Flanged End, RF

* Working Pressure CF8M - 275 PSI ( CWP)
WCB - 285 PSI (CWP )

CRN

CERTIFICATED

("

ICE8M Bo

IG.

PRESSURE IN PS|

RTFE. BEA
20 0 50 100 10 20 20 300
L | | | 1 1 1,

28 3 1w a2 2 3% w2 s lF

TEMPERATURE

e Steam Pressure 150 PSIG. Saturated Steam for RTFE.
* Temperature Range -4 to 356 °F (-20 to 180 °C ) for RTFE.
* Design ASME/ANSI B16.34
* Mounting Flange ISO 5211
* Face to Face ASME/ANSI B16.10 Class 150
* Flange Dimension ASME/ANSI B16.5 Class 150 RF
e Material ASTM
* Pressure Testing API 598
e Fire Safe API 607 Fire Safe Design
* Type Approval ABS Type Approval
o * Quality Assurance ISO 9001
RS | "  Material Certificate EN 10204-3.1 MTR
bdd é @g ‘i«p ’ « CE Approval PED 97/23/EC Module H
L sl e Canadian Certificate CRN
IO EARGNEME (more mﬁlﬁiﬁ;nabb) SZE |PORT L | E | H1 |H2|H4 | C | @Y | @G | @ |@ | T | F |Mx@N| @K 24
1 |BODY ASTM A351 Gr.CF8M | ASTM A216 GrWCB
4 |BALL ASTM A351 Gr.CF8M DN125| 5" | 125 | 356 | 600 |232.4| 45 [163.0| 27 | 36 |254.0|216.0| 186 | 24.0 | 1.6 |8x22.3|125/F12 |M12x1.75P
5 |STEM ASTM A276 Gr.SS316
9 |END CAP ASTM A351 Gr.CF8M | ASTM A216 GrWCB
T Teeny oL BTFE DN150| 6" | 150 | 394 | 800 |251.9| 45 1825 27 | 36 |279.4|241.3| 216 | 25.4 | 1.6 |8x22.3| 125/F12 |M12x1.75P
12 |SEAT RTFE.(15%G.F.)
13 |THRUST WASHER | PTFE. DN200| 8" | 200 | 457 | 800 |280.9| 45 |211.5| 27 | 36 |342.9|298.5| 270 | 28.5| 1.6 |8x22.3| 125/F12 |M12x1.75P
14 |STEM PACKING PTFE.
15 |GLAND ASTM A351Gr.CF8 DIMENSION unit : inch
15-1|GLAND BUSH SS304
19 |HANDLE IRON SIZE |PORT L | E | H1 |H2|H4 | C | @Y | @G | @) |@ | T | F |[Mx@N| @K Z-4
20 |SET BOLT SS304
21 |HANDLE COVER PLASTIC DN125| 5" | 4.92|14.02|23.62| 9.15 |1.77| 6.42 | 1.06 | 1.42 | 10.00| 8.50 | 7.32 | 0.94 | 0.06 | 8x0.88 |4.92/F12[M12x1.75P
28 |STOP PLATE $S304
35 |BODY BOLT ASTM A193 Gr.B8
37 |BOLT NUT ASTM A194 Gr.8 DN150| 6" | 5.91 |15.51|31.50| .92 1.7 | 7.19 | 1.06| 1.42 | 11.00| 9.50 | 8.50 | 1.00 | 0.06 |8x0.88 |4.92/F12M12c1.75P
41 |SNAP RING SS304 EE
42 |GLAND BOLT SS304 DN200| 8" | 7.87 17.99|31.50 | 11.06 | 1.77| 8.33 | 1.06 | 1.42 | 13.50 | 11.75|10.63| 1.12 | 0.06 | 8x0.88|4.92/F12|M12x1.75P &
50 |HANDLE ADAPTER | ASTM A351 Gr.CF8 z
&

md_sales @ms.modentic.com.tw _ © 2016 Modentic Industrial Corporation
Modentic reserves the rights to change the contents without prior notice

No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.) Materials with the registered trademark designation ® are typical materials
Tel : + 886 4 23317777 * Fax:+ 886 4 23317771 and owned by other respective companies



